Lesson 2.7- Multiplicity and IVT.notebook

Lesson 2.7- Objective: SWBAT determine the
multiplicity of a polynomial function and sketch it by
hand.
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Multiplicity and the Intermediate Value Theorem

Try this: Find the zero's and draw a sketch of the graph of the following: x;
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Factor, find the zero’s and i s multiplicity.

1 flx)= —2x*+2x* \
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To Sketch a Polynomial Function
1. Use the leading coefficient test to find the end behavior

2. Find the multiplicity X,. o X - \ Y- \
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3. Sketch the graph as a continuous curve !r - \/Y\J
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The Intermediate Value Theorem

The x interval in which you would find a zero. “lw \{ou M

Example: in what interval of one unit will vou find a zero M“
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Example: Sketch a graph of f(x) = —x* + 7x — 5 using the Intermediate Value Theorem.
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DFG) =x(x-2)

Df) = —(x+ Dx-2)*(x-3)

3) f(x)=—x +9x

4) g(x) =x"—10x"+9
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